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(L #Pp#H 106267 30p)

i i % 3 = # i
R L, £ £ % (ppm) ek |-xe % 8 % % (ppb) k% (ppm)
" GeD T ; REEE =T CE g 4 ' ' '
b & | & | & (ppm) (ppm) 2 + %% % B | £DDT | 4% BHC | 4 PCNB
1 | A |## — | = = = 20.0 150 — - - - —
2 | A [new — | — | =] = 200 150 - -~ -~ - -~
3 | A |m# — | = | = | = 200 150 — — — — —
4 | A |kiz — | = | =] = 200 150 10 5 — — —
5 | P |2# — | = — | = 20.0 150 — - - - -
6 | P |% — | = — | = 20.0 150 — — — — —
7| P |i — | =1 =1 = 20.0 150 — — — — —
8 | A |i+a — | = | =] = 200 150 — — — — —
9 | P |53 — | = | =] = 200 150 — — — — —
10| M |z% — | — | — | = 200 — — — — — —
1| M |@sz — | = — | = 200 — — — — — —
12 | A |## — | = | =] = | 300 — 10 5 = - -
13 | M [## — | = | = | — | 300 = - = = - -
14 | M |#& — | = | = | = | 300 — — — — — —
15 | M |5 (m)s — | = = | = 30.0 - - - - - -
16 | M |ag — | = — | = 30.0 - - - - - -
17| M g — | = | =] = 300 — — — — — —




% 3 > 1 B Z p %
- ) L, £ & % (pom) U B % 8 % # (ppb) k% (ppm)
“GeD T } “aeiily | S e ER S LY , , ,
b & | & | & (ppm) (ppm) e 2) + 8% % B | £DDT | % BHC | 4 PCNB
18 | M |=# — | = = = 300 - - - — — —
19 | N |[p#z — | = = = 300 - - — — — —
20 | M |[#7% — | = | =] = 300 — — — — — —
21 | M |p #4F — | = | = | = 300 — — — — — —
22 | M |res — | = = = 300 - - - — — -
23 | M |%% — | = = = 300 - - - — — —
24 | M [g4% — | = = = 300 - - - — — —
25 | A |T&" — | = | =] = 300 150 - — — — —
26 P |®iF 5.0 | 5.0 | 1.0 | 0.2 — 150 — — — — —
27 P |2 4 5.0 | 5.0 | 1.0 | 0.2 — 150 — — 0.2 0.2 —
28 P | 5.0 | 5.0 | 1.0 | 0.2 — 150 — — — — —
29 P |B&# 5.0 | 5.0 | 1.0 | 0.2 — 150 — — — — —
30 P (%A 5.0 | 5.0 | 1.0 | 0.2 — 150 — — — — —
31 P % 5.0 | 5.0 | 1.0 | 0.2 — 150 — — — — —
32 P & 5.0 | 5.0 | 1.0 | 0.2 — 400 — — — — —
33 P [ (= 7%) 5.0 | 5.0 | 1.0 | 0.2 — 400 — — — — —
34 P |[2%(R=%) 5.0 | 5.0 | 1.0 | 0.2 — 400 — — — — —
35 P |&+ 5.0 | 5.0 | 1.0 | 0.2 — 150 — — — — —
36 P i 5.0 | 5.0 | 1.0 | 0.2 — 150 — — — — —
37 P |& & 5.0 | 5.0 | 1.0 | 0.2 — 150 — — — — —




% 3 % B Z p *
pu | S L, £ £ % (ppom) U 8+ % (ppb) k% (ppm)
"D o ) Sis e | S [ S ES , , ,
b & | & | & (ppm) (ppm) e 2) + 8% % B | £DDT | % BHC | 4 PCNB
38 P &3 5.0 | 5.0 | 1.0 | 0.2 — 150 10 5 0.2 0.2
39 P #®4 5.0 | 5.0 | 1.0 | 0.5 — 150 — — — —
40 P |+ % 5.0 | 5.0 | 1.0 | 0.2 — 150 10 5 — —
41 P |#5 & 5.0 | 5.0 | 1.0 | 0.2 — 150 — — — —
42 L 5.0 | 5.0 | 1.0 | 0.2 — 150 — — — —
43 P |£7 5.0 | 5.0 | 1.0 | 0.2 — 150 — — — —
44 P |¥% 5.0 | 5.0 | 1.0 | 0.2 — 150 — — — —
45 P %% 5.0 | 5.0 | 1.0 | 0.2 — 150 — — — —
46 P itk 5.0 | 5.0 | 1.0 | 0.2 — 150 — — — —
A7 P | B 5.0 | 5.0 | 1.0 | 0.2 — 150 — — — —
48 P |58 (3%) 5.0 | 5.0 | 1.0 | 0.2 — 400 — — — —
49 P |&9 A& 5.0 | 5.0 | 1.0 | 0.2 — 150 — — — —
50 P |&= 5.0 | 5.0 | 1.0 | 0.2 — 400 — — — —
5l P |R¥ 5.0 | 5.0 | 1.0 | 0.2 — 150 — — — —
52 P |= B 5.0 | 5.0 | 1.0 | 0.2 — 400 — — — —
h3 P |xF% 5.0 | 5.0 | 1.0 | 0.2 — 400 — — — —
54 P |42 5.0 | 5.0 | 1.0 | 0.2 — 150 — — — —
59 P |k 5.0 | 5.0 | 1.0 | 0.2 — 150 10 5 — —
56 P | 5.0 | 5.0 | 1.0 | 0.2 — 150 — — — —
57 P |¥ 5.0 | 5.0 | 1.0 | 0.2 — 150 — — — —




% 3 > 1 B Z p %
o ) L, £ & % (pom) U B % 8 % # (ppb) k% (ppm)
“GeD T _ L S 4 T ER S LY , , ,
oo | & | & (ppm) (ppm) e 2) %44 2B | 2DDT | % BHC | % PCNB
H8 P |8 & 5.0 | 5.0 | 1.0 | 0.2 — 400 — — — — —
59 P "+ 5.0 | 5.0 | 1.0 | 0.2 — 150 — — — — —
60 P |9 42 5.0 | 5.0 | 1.0 | 0.2 — 150 — — — — —
61 P |~3% 5.0 | 5.0 | 1.0 | 0.2 — 150 — — — — —
62 P LY 5.0 | 5.0 | 1.0 | 0.2 — 150 — — — — —
63 P |&gR 5.0 | 5.0 | 1.0 | 0.2 — 150 — — — — —
64 P w3 5.0 [ 10.0 | 1.5 | 0.2 — 150 — — 0.2 0.2 —
65 P ¥ % 5.0 | 5.0 | 1.0 | 0.2 — 150 — — — — —
66 P (v % 5.0 | 5.0 [ 0.3 | 0.2 — 400 — — — — —
67 P |&%5 5.0 | 5.0 | 0.3 | 0.2 — 400 — — — — —
68 P |+ 5.0 | 5.0 | 1.0 | 0.2 — 150 — — — — —
69 P |x% 5.0 | 5.0 | 1.0 | 0.2 — 150 — — — — —
70 P |3 Eﬁ 5.0 | 5.0 | 1.0 | 0.2 — 400 — — — — —
71 P |gm/™% 5.0 | 5.0 | 1.0 | 0.2 — 150 — — — — —
72 P |KF 5.0 | 5.0 | 1.0 | 0.2 — 150 — — — — —
73 | P |y 5.0 | 5.0 | — | 0.2 — 150 — — — — —
4 P ¥ 5.0 | 5.0 | 1.0 | 0.2 — 150 — — — — —
() P =- 5.0 | 5.0 | 1.0 | 0.2 — 150 — — — — —
76 P |&# — 5.0 — 0.2 — 150 — — — — —
7 P |i&%F — 5.0 — 0.2 — 150 — — — — —




*® % 7% 2 p %
pu | S L, £ £ % (ppom) U 8+ % (ppb) k% (ppm)
"D o ) Sis e | S [ S ES , , ,
b & | & | & (ppm) (ppm) e 2) + 8% % B | £DDT | % BHC | 4 PCNB

78 P |4 % — 5.0 — 0.2 — 150 — — — — —
79 | P/A |* AR X — 5.0 | 1.0 | 0.2 — 150 — — — — —
80 M|z — 5.0 | 1.0 | 0.2 — — — — — — —
81 M ~% — 5.0 | 1.0 | 0.2 — — — — — — —
82 P |igs 3.0 {10.0] 1.0 | 0.2 — 150 — — — — —
83 | P RER 3.0 {10.0| 1.0 | 0.2 — 150 — — — — —
84 P w53 3.0 {10.0] 1.0 | 0.2 — 150 — — — — —
85 P |4y 3.0 | 10.0] 1.0 | 0.2 — 150 — — — — —
86 P [HPE 3.0 | 10.0] 1.0 | 0.2 — 150 — — — — —
87 P T &t 3.0 {10.0| — 0.2 — 150 — — — — —
88 P |[Z#=x 3.0 {10.0] 1.0 | 0.2 — 150 — — — — —
89 P |® 3% 3.0 | 10.0] 1.0 | 0.2 — 150 — — — — —
90 P |RlpE 3.0 | 10.0] 1.0 | 0.2 — 150 — — — — —
91 P |# i 3.0 |10.0] — 0.2 — 150 — — — — —
92 P |§EGE#H) 3.0 {10.0] 1.0 | 0.2 — 150 — — — — —
93 A pEIx 3.0 {10.0] 1.5 | 0.2 — 150 — — — — —
94 P #g7 8% 3.0 |10.0] — 0.2 — 150 — — — — —
95 P | 3.0 |10.0] 1.0 | 0.2 — 150 — — — — —
96 P &% 3.0 |10.0] — 0.2 — 150 — — — — —
97 P X% 3.0 {10.0] 1.0 | 0.2 — 150 — — — — —




% 3 > 1 B Z p %
o ) L, £ & % (pom) U B % 8 % # (ppb) k% (ppm)
“GeD T _ L S 4 T ER S LY , , ,
oo | & | & (ppm) (ppm) e 2) %44 2B | 2DDT | % BHC | % PCNB

98 P [k#E 3.0 {10.0] 1.0 | 0.2 — 150 — — — — —
99 P |¢ ¢35 X 3.0 {10.0] 1.0 | 0.2 — 150 — — — — —
100 P | & 3.0 | 15.0 ] 1.0 | 0.2 — 150 — — 0.2 0.2 —
101 P [#A (k) 3.0 | 15.0 ] 1.0 | 0.2 — 150 — — 0.2 0.2 —
102 P i 3.0 {15.0] 1.0 | 0.2 — 150 — — 0.2 0.2 —
103 | P |&## 3.0 {15.0] 1.0 | 0.2 — 150 — — — — —
104 | P |¢ % 3.0 {15.0] 1.0 | 0.2 — 400 — — — — —
105 P |44 3.0 | 15.0 ] 1.0 | 0.2 — 150 — — — — —
106 | b 3.0 | 15.0 ] 1.0 | 0.2 — — — — — — —
107 | P |[E#&FGLI) 3.0 {15.0] 1.0 | 0.2 — 150 — — — — —
108 | P |icik 3.0 — 1.0 — — 150 — — — — —
109 P |%¥4p 3.0 — 1.0 | 0.2 — 150 — — — — —
110 P |F®ée(miv; EHI) 3.0 — — 0.2 — 150 — — — — —
111 Mg 3.0 — 1.0 | 0.2 — — — — — — —
112 | M |[®F® 3.0 — 1.0 | 0.2 — — — — — — —
113 | P |2 % 3.0 | 5.0 | 0.3 | 0.2 — 150 — — — — —
114 | P 4% 3.0 | 5.0 | 0.3 | 0.2 — 150 10 5 1.0 0.9 1.0
115 P |§F 3.0 | 5.0 | 0.3 | 0.2 — 150 10 5 1.0 0.9 1.0
116 P |&=F 3.0 | 5.0 | 0.3 | 0.2 — 150 10 5 1.0 0.9 1.0
117 | P B 3.0 | 5.0 | 1.5 | 0.2 — 150 — — — — —




% 3 > 1 B Z p %
o ) L, £ & % (pom) U B % 8 % # (ppb) k% (ppm)
“GeD T _ L S 4 T ER S LY , , ,
b & | & | & (ppm) (ppm) e 2) + 8% % B | £DDT | % BHC | 4 PCNB
118 | P |E% 3.0 | 5.0 | 1.5 | 0.2 — 150 — — — — —
119 | P |F&GL3) 3.0 | 5.0 | 1.5 | 0.2 — 400 — — — — —
120 P |F M 3.0 | 5.0 | 1.5 | 0.2 — 150 — — — — —
121 P [sv k= 3.0 | 5.0 — 0.2 — 150 — — — — —
122 | P |B5HE(HFEL) 3.0 | 5.0 — 0.2 — 150 — — — — —
123 | P |5 % 3.0 | 5.0 — 0.2 — 150 — — — — —
MET (2R H2 —

124 | P ; L3 2 ) ﬁ 3.0 | 5.0 — 0.2 150 — — — — —
125 | P WFE 3.0 | 5.0 — 0.2 — 150 — — — — —
126 | P |¥% 3.0 /50| — |02 — 150 — — — — —
127 | M |6 2% — | = | = = — — — — — — —
128 | M |4 4 — | = | = | = — — — — — — —
120 | M |(Fr(REE) i I e — — — — — — —
130 | M |®:2 — | =] = | - — — — — — — —
131 | M |Baz — | = | = - — — — — — — —
132 | M |E% — | = | = | - — — — — — — —
133 | M |53 — | = = - — - — — — — —
134 | M |4 — — — — — — — — _ _ _
13 | P |WLEGEI) 3.0 | 5.0 | 1.0 | 0.2 — 400 — — — — —
136 P |9 % 3.0 | 5.0 | 1.0 | 0.2 — 400 — — — — —




% 3 % B Z p *
pu | S L, £ £ % (ppom) U 8+ % (ppb) k% (ppm)
"D o ) Sis e | S [ S ES , , ,
b & | & | & (ppm) (ppm) e 2) + 8% % B | £DDT | % BHC | 4 PCNB

137 | P |[3pp (33) 3.0 | 5.0 | 1.0 | 0.2 — 400 — — — — —
138 | P |5 (GL3) 3.0 | 5.0 | 1.0 | 0.2 — 400 — — — — —
139 P [#k GL3) 3.0 | 5.0 | 1.0 | 0.2 — 400 10 5 — — —
140 P |L#(GL3) 3.0 | 5.0 | 1.0 | 0.2 — 400 10 5 — — —
141 P |* & 3.0 | 5.0 | 1.0 | 0.2 — 400 10 5 0.2 0.2 —
142 | P R % 3.0 | 5.0 | 1.0 | 0.2 — 400 — — — — —
143 | P |2 3.0 | 5.0 | 1.0 | 0.2 — 400 — — — — —
144 | P |[EF(GL3) 3.0 | 5.0 | 1.0 | 0.2 — 400 10 5 — — —
145 P |8 A8 (31£3) 3.0 | 5.0 | 1.0 | 0.2 — 400 — — — — —
146 | P |[KRGL3) 3.0 | 5.0 | 1.0 | 0.2 — 400 — — — — —
147 | P |* %A 3.0 | 5.0 | 1.0 | 0.2 — 150 10 ) — — —
148 P |+§3 3.0 | 5.0 | 1.0 | 0.2 — 150 10 5 — — —
149 P |4k 3.0 | 5.0 | 1.0 | 0.2 — 150 10 5 0.2 0.2 —
150 P |## 3.0 | 5.0 | 1.0 | 0.2 — 150 10 5 — — —
151 P [f3F 3.0 | 5.0 | 1.0 | 0.2 — 150 10 ) — — —
152 | P |#A 3.0 | 5.0 | 1.0 | 0.2 — 150 10 ) — — —
153 P 3+t 3.0 | 5.0 | 1.0 | 0.2 — 150 10 5 — — —
154 | P |[#%3 3.0 | 5.0 | 1.0 | 0.2 — 150 10 5 — — —
155 P = 3.0 | 5.0 | 1.0 | 0.2 — 150 10 5 — — —
156 | P |75 3.0 | 5.0 | 1.0 | 0.2 — 150 10 ) — — —




# % 7 ; % A ¥
pu | S L, £ £ % (ppom) U 8+ % (ppb) k% (ppm)
"D o ) Sis e | S [ S ES , , ,
b & | & | & (ppm) (ppm) e 2) + 8% % B | £DDT | % BHC | 4 PCNB

157 | P |p3 3.0 50| 1.0]02| — 150 10 5 — — —
158 | P |®iit 3.0 50| 1.0]02| — 150 10 5 — — —
159 | A |igun 3050|1002 — 150 10 5 — — —
160 | A |2k 3.0 (501002 -— 150 10 5 — — —
161 | A [6A&E 3.0 (501002 — 150 10 5 — — —
162 | P |mEE 3.0 50| 1.0]02| — 150 10 5 — — —
163 | P |z 3.0 50| 1.0]02| — 150 10 5 — — —
164 | P |ma 3050|1002 — 150 10 5 — — —
165 | P |ma 3050|1002 — 150 10 5 0.2 0.2 =
166 | P |¥7 & 3.0 50| 1.0]02| — 150 10 5 — — —
167 | P |4 3.0 50| 1.0]02| — 150 10 5 — — —
168 | P |%% 3050|1002 — 150 10 5 — — —
169 | P |sf= 3050|1002 — 150 10 5 — — —
170 | P ;“’ﬁ(*“é)@i 3.0 5010 02| — 150 10 5 — - -
171 | P 1% 4GE3) 3.0 501002 — 150 10 5 — — —
172 | P |[*% 3.0 (501002 — 150 — — 1.0 0.9 1.0
173 | P |%iB% 3.0 50| 1.0]02| — 150 — — 0.2 0.9 1.0
174 | P |%KE 3050|1002 — 150 — — 0.2 0.2 —
175 | P |§&% 3.0 501002 — 150 — — 1.0 0.9 1.0




i L o 3 = # *
pu | S L, £ £ % (ppom) U 8+ % (ppb) k% (ppm)
"D o N Sis e | S [ S ES , , ,
b2 & 5 23 (ppm) (ppm) (22 * M=+ 2B | B2DDT | % BHC | i PCNB
176 | P [H=(Gx3) 3.0 | 5.0 | 1.0 | 0.2 — 150 — — — _ _
177 | P B 2EGEI) 3.0 | 5.0 | 1.0 | 0.2 — 150 — — — — —
178 | P |[¥FExmGE3) 3.0 | 5.0 | 1.0 | 0.2 — 150 — — — — —
1719 | P ®mi=(3x3) 3.0 | 5.0 | 1.0 | 0.2 — 150 — — — — —
180 | P |##HGLI) 3.0 | 5.0 | 1.0 | 0.2 — 150 — — — — —
181 | P |&%E(=£%2)3x3)| 3.0 | 5.0 | 1.0 | 0.2 — 150 — — — — —
Hapy B 8g 3.0 | 5.0 | 1.0 | 0.2 — 150 — — — — —
Haepe FH-$5 g 3.0 | 5.0 | 1.0 | 0.2 — 150 — — — — —
Hepd BH-Hb 5 3.0 | 5.0 | 1.0 | 0.2 — — — — — — —
EEap
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